PNARDEETME T 0 RBE [N 2FE APAKRS

<HF: 40 ~69m At BAL %>

RS ERRE BREDE NAFRE R S R B BHNAEIE

1 |[FEHt 38.9| LHART 14.3| BRAEAT 100.0[ 4+ 3.03|%4F 100.0| 3z %4 BT 100.0
2 |mtaAR 35.3| KFEH 13.6| E@At 100.0| Sz % BT 2.70|SZR}ET 50.0[#E AT 50.0
3 | A 34.8|/Ng&TH 131 E8 4+ 100.0| FRAEAT 217 | FRigEA 16.7|#AA 11.8
4 IEF 32.4| FrigEAT 13.0/ha 4t 100.0| 4= A F&ET 0.99| &= LAt 14.3| %4 0.0
5 |mAREE 32.0| SR #mET 12.9|MAm 100.0(& Lt 0.93| 4= A% HET 13.3| BRAEAT 0.0
6 [/NIF 29.8| Em 4t 12.5| AR$EAH 100.0[3R35i T 0.86| & #RET 12.5]| @ LAt 0.0
7 |E7RET 28.7| E#mET 121 |4 ATEHRT 100.0{ & #x AT 0.60| 3R 3p BT 1.1 [ AFEET 0.0
8 |/hBAF 27.0| 83 RET 11.5| REFEA 100.0|/Ne& 052|=+RAT 8.3|=&HET 0.0
9 |4&IRH 26.3| =™ 11.0|FatAt 100.0[#AA& 0.43|gxE™ 6.6 | I AT 0.0
10 |G Ra BT 25.9| REFET 11.0|FFBH 100.0#J114¢ 0.41|#AAH 5.6|=tRHAT 0.0
11 |/NiBHT 25.7| T 10.6| AR EHET 100.0| =+ RET 0.38[ #4114t 5.3|gkRA™ 0.0
12 | KER 25.3| A 10.5|dLABARA 100.0| SR #BET 0.33|F gl 4.9|#)1IF 0.0
13 | & 249|807 1R 10.4| KB/ 100.0(Ba4 1R 0.31|farm 40| F e 0.0
14 |HEARHR 24 9|1l Ht 10.3| F e 100.0| F i 0.28|/Nsgh 3.9[FmeH™ 0.0
15 |FE#HH 249\ H 9.6[8r S HT 100.0| e 0.24|B/7 1R 3.0[/nEE™ 0.0
16 |#RBH 247 | = EHH 9.5|/Nfr B BT 100.0|gR A 0.24| SR #mET 2.6|E0/ R 0.0
17 | REFET 24.6|AAH 9.5|1RPHt 100.0[AA ™ 0.22| LA 2.4|SRAmET 0.0
18 |8k SHT 242|% % 9.4| ST RIET 100.0| F#H 0.20|fAA ™ 23| LA™ 0.0
19 |FEBH 24.1|BAK 9.2| =& 100.0| E#mET 0.19|¥ % 20|@am 0.0
20 |#A)IF 24| EHH 8.9| REER 100.0(¥% ™ 0.18|#E AT 1.9|FHm 0.0
21 |BRABET 23.3| R ET 8.8[HEH 100.0[ & 0.17|EHH 1.9|RB™H 0.0
22 |=@EH 232\ AT 8.7|ELRET 100.0[tE AT 017|308 1.9|F ;B 0.0
23 |/ fEET 23.2|hHH 8.0[JIl 4t 100.0| R EHH 0.16| ™ 1.8| ™ 0.0
24 |fRET™ 224 #)N0+ 7.8|mAEARA 100.0(f# 3B 0.13| = EB M 1.7|REHH 0.0
25 |1l 22.2| SR ET 7.7|/NEET 100.0| FAH 0.13| Z#mET 1.6| EEHET 0.0
26 |HEEHET 221 | 77| RB R 100.0| AR 0.11| BRI 1.6| ARk 0.0
27 | KE#H 221 | R#E4 B 100.0( E& 4t 0.00| Es&+f 0.0[ &4t HARREL
28 |BEH 22.1 |4 AFEET 1A[EARH 100.0|E& 4 0.00| E&+ 0.0[F&# PARRAEL
29 [XREEH 21.9|BiRH 7.3 Il 100.0[/h&#f 0.00|/NA+F 0.0[h&s 4t HARREL
30 | AREHET 21.7|mEEHmA 7.1 | BT REET 100.0| A% 0.00| A%8+F 0.0| KRB PaRRAEL
31 |FEH 21 5| REFH JANEZ: 00 98.0[ K& FH 0.00| K& F 0.0| REFA HARREL
32 [BEH 21.4|Bat 6.9|RE ™ 97.6| B4k At 0.00| mg4& At 0.0| matk#t HARREL
33 [FEAH 21.2| 38 6.9[hEH 97.6| A B HET 0.00| A B HT 0.0| R EET HARREL
34 |#)I18T 21.0| KREH 6.8| SR AfET 97 4|dLAEARK 0.00|dEsaAA 0.0[dEsaAA MNAFERBL
35 [BpRURRAS 209| =@+ 6.7| LAH 96.7| KBTHT 0.00| XA 0.0| KBTI HARREL
36 |#XFFIRET 20.7| & LAt 6.5| REFHT 96.0| AR & fT 0.00| &R & &7 0.0| 8k S HT PagRAEL
37 | AFERT 20.3|;th EHET 6.5[FmeH ™ 96.0[/NfaBET 0.00{/Nfa BT 0.0/ fr g BT HaRREL
38 [ L#ART 19.8|E R M 6.4 | P E AT 95.8| R P+ 0.00[4R P+t 0.0| B3Pt HARREL
39 [RRAER 19.5| &4t 6.4[/NEE™ 94.7| XKgeHt 0.00| K&+t 0.0| XEEHR HARREL
40 |Zdeat 19.4| FEREHET 6.3| RaREHHAT 94.7| BB+ 0.00| B &+ 0.0|B /A HARREL
4 | EBN 19.3|fREA™H 6.0 3y BT 94.4|)Il L& 0.00JIl L& 0.0[JIlE#F MARREL
42 | RBFH 19.0|dLABARA 59| REHH 93.7|mtEAK 0.00|mg#EAK 0.0|maHEAK HARREL
43 |4t 19.0| KET T 5.8|BAH 93.3|/INBHRT 0.00|/NBRT 0.0[/NET HaRRAEL
44 |Ba/ iR 18.7|F e 5.7 (™ 92.9| B FRBRF 0.00| B RE R 0.0|FRIBRH | »afREL
45 | R 18.2| 8k S HT 5.7| R &R 91.7|EFAH 0.00| & A+ 0.0|FAH HARREL
46 |B3R™ 18.0|/Nfr g BT 5.7| 1L/ PRET 91.7| 1%t 0.00] #JI1%¢ 0.0] )14+ MARREL
47 |k 17.6| L/ BT 5.7 #A)1IFH 89.5|F g T 0.00|pa g T 0.0| I RE BT HARREL
48 |EE 4 17.6|4RP4F 5.6|1EAT™ 89.4|HFH 0.00|# &M 0.0| MARREL
49 | FREHET 17.3[ M1 5.5 EEHET 89.1| REFET 0.00| REpET 0.0| REFET PagRAEL
50 [FmEHT 16.7| S FLET 5.4| Lzt 87.5|mE#wAT 0.00|FE E#mAT 0.0| P EEsmAS HARREL
51 | E@ET 15.9| EEH 5.2|mAEET 87.5| FamAHET 0.00| FamahHET 0.0| RaREHHAT PaRRAEL
52 |&F 15.7|8R 1L [ N 85.9|BAH 0.00|BAH 0.0[BAH PaRRAEL
53 [REHH 15.5|{S4ET 5.0| & Lt 85.7| T4t 0.00| 14t 0.0| T+ HARREL
54 |/Ng&T 15.2| & #RET 4.8| B+t 85.7| 1L/ PRET 0.00] 1L/ PaET 0.0[ 1L/ paET PagRAEL
55 [RFNET 14.6| REEA 4.8|8RE™ 85.5[ 1Lz Ht 0.00[ 1Lz 4t 0.0 Izt HARREL
56 [JLrEARAS 13.3|BHEH 47| Ak 84.4|mIA EHET 0.00| @A & BT 0.0| A EET HARREL
57 |[#EAT 12.9| AR H BT 46|+ 83.3| B4t 0.00| B4t 0.0|E&f PagRAEL
58 |thEHET 11.8|= L RHAT 45|1BRH 82.4| &+ 0.00| fy 25 ¢ 0.0[pa &8 #¢ PagRAEL
59 | EHAT 1161l E4F 4.4| EFART 81.8|EHRM 0.00|tE R 0.0|tEREM HARREL
60 [1L/PET 11.6|BaEAK 4.0| 8 FRET 78.9| LHART 0.00| E#ART 0.0[ _E#5FT PagRAEL
61 [Fehh 11.5|FaER 4 39[KEH 75.0| 823 RET 0.00|#2 3R ET 0.0| 8RBT HARREL
62 |FHH 11.1|8REH 3.6| L HAT 70.6| KFEH 0.00| K Z+t 0.0[KE# PagRAEL
63 |EATH 10.6|/NiBHT 3.3|Ey R 70.1 | R ET 0.00| L R ET 0.0|#4% BET PagRAEL
64 |ILfizH 10.3| B R RAT 3.2|/M)1F 66.7]/N1F 0.00|/M) 1%+ 0.0]/M 1%+ HARREL
65 [fSiRAT 10.0|54E4 31| EEH 66.7|2 K4 0.00|2 4 0.0|ZE# HARREL
66 |SLEHET 8.9| %At 3.0[:th AT 62.5|th FHET 0.00|;th FHET 0.0:th BT HARREL
67 |{ER™ 8.5|#AJIIET 3.0|HILHt 50.0| HAL+t 0.00| AL+t 0.0| 5Lt HARREL
68 [KETT 6.9[FAH 2.7|8Rium 43.3[RILTH 0.00| &R iU 0.0k HARREL
69 |RHM 64| B R 2.2|#A)1I1BT 25.0[#A)11ET 0.00#4)11&E7 0.0|#J1 BT PagRAEL
70 |gRilTh R L lIE) 1.7| =84 23.1| =@M 0.00| = E+f 0.0|=E# HARREL
71 |2t ReEr -4 FRT g T 1.6|{E =8 0.0|f==AT 0.00|f=="T 0.0|f==AT MARREL
72 |ER R ISR 14|58 4 0.0|FBH 0.00|E B+ 0.0|8A B+ MARREL
73 [FEa - R FNET 0.0| e E¥gsL| RAIRT 0.00| E#nET s RAIRT HARREL
74 |REH EPN o) 0.0| KEe#t S| KA 0.00| K g+t SR KA HARREL
75 |BAH - FEARH 0.0|FEAR+ SR FEARA 0.00|FEA+ SR FEARA HARREL
76 | R#EH R =200 0.0 &3kt SERaL| EIRA 0.00| & i+t eSO HARREL
77 |SRIsET - RE R 0.0|F&E4 SHRLL|RER 0.00|&E 4 SHREL|RER MARREL

RBE 152 |[RBR 73 |RBHE 904 [EHE 0.20| RE1E 27 |[RBR 6.3
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K1 AP RIEHEERES DN TEL LGS
X2 HEEEOHM AARDEEOHYSICET IRIFRIDARBEEDHYAIZONTI(HFISEEH)
FTRCDZZEORDERN2FELBELEEEERA,
HAEEH-LTODHERNEEFERLTND,

X3 IBALEFEICRYKRECEET NG D GFICA DBEO/NSOHETFR) 20, COREAVEIBRERICETREET 2.,




